Carcass #	   Fat	 PYG     Wt 	  REA         REA	  REA.    KPH	KPH	  FYG
		  TK		 	  needed      Est       Adj			Adj		

1		.40	______      600    _____         11.0       ______      3.5            _____      ____
2		.20	______      725    _____         12.1       ______      1.5            _____      ____
3		.40	______      545    _____          8.6       ______      2.5            _____      ____
4		.60	______      625    _____         13.0       ______      3.5            _____      ____
5		.05	______      705    _____         12.7       ______      2.0            _____      ____
6		.25	______      500    _____          9.4       ______      2.5            _____      ____
7		.90	______      850    _____         16.2       ______      4.5           _____      ____
8		.10	______      625    _____         12.5       ______      2.0            _____      ____
9		.80	______      835    _____         13.4       ______      4.0            _____      ____
10		1.2	______      800    _____         8.7         ______      2.5            _____      ____


Determine PYG for following carcass fat thickness:

	Fat Thickness			PYG

		.25				_____
		 .4				_____
1.0 _____
1.5				_____
 .8				______


Calculate the PYG adjustments for the following REA:

	REA				PYG Adjustment
1	12.5				_________

2	10.0				_________
			
3	14.5				_________

4	11.0				_________
			
5	 9.5				_________


Calculate the PYG for the following carcass weights:

	HCW			PYG Adjustment

1	700				________

2	550				________	
		
3	875				________

4	600				________

5	925				________


Calculate the PYG adjustments for the following carcass data:

HCW	KPH fat (lb)	KPH %		PYG Adjustments 
1	700		   7			______		________

2	600		 24			______		________	

3	800		24			______		________

4	775		16			______		________

5	650		23			______		_______
